O » O| N| I | 3
c (.'B o Q N N
— « D ~«D
«Q | O = o o
9 >l Q | @ S S
(2D —~ = O
i~ U I = =T I = I 1
=
< o 3 | a| x| S
3 =. Qo > &
bl Q = Q —
Bl o | = | 2
2 D
Q E
el
o @)
3 Q
Rd o
w
8 -
Q &
D S
%)- 0,00 ~ 2,31 |119.08 |121.39 | isin. studnia betonowa =
— N
5,00 c.:3’1 istn. wod. 100
U
9.80 < B istn. kabel teletech.
12,40 O ul\) istn. kan. deszcz. 2200
o\ | °
o
50.30 s proj. wod. @40
@p) : ° 2,30 [119,20 121,50 | studnia betonowa @1000
- %égg N istn. gaz. @25
. istn. gaz.
(@)
o
U
<
@)
N
©
N
o
69.30 proj. wod. @32
(0] 70.40 2,65 1119.75 (122,40 | studnia betonowa &1000 i
no N
(@)
o
U
< N .
81,50 O istn. kan. deszcz. @200
[
N o
o
o
92.30 | 52 istn. gaz. @63
(@)) 9460 | © 2,64 |120,11[122,75 | studnia betonowa @1000 |
w S proj. kan. deszcz. @315
9980 |2 g 6,10 istn. wod. @150 do likwidacji
0] p— 2,61 |120,14 | 122,75 | studnia betonowa @1000 =
N 100,70 | B
g\g 5,00
= 105,70 [ 2,30 [120.45 (122,75 | studnia betonowa @1000 3
—h
w 0.00 264 |120,11[122.75 studnia betonowa @1000 .
w 2,05 N proj. wod. @110 “
o istn. kabel teletech. |
2,90
o
U
<
@
15,60 proj. wod. @40
& ||
19.10 © istn. gaz. @25
S \
23,00 © proj. kan. san. @160 T1
proj. wod. @40
80l 36,70 proj. kan. san. @160 T2
wnT 38.00 2,00 120,77 122,77 | studnia betonowa @1000
(&3
y |22 A
[0} =) c o) o
~ N- > 0 Ay
&F Q o) 8 .a
2 r 8.
v
T |SE=| 2§
S, N, 0o o
= NG QT
o= " g
3 AN |ON . 8 a
—Q Nl X o 9
O n 2R s
= Z 122 |3y
D N "I @D & s' 0w 0
O h~] I~
8 =< = o 5 I L0
2o || S oy |22
Ss |8 - | © |§5s
-~ =. 0] w (=)
S|l v | & |§&8
) b~}
L9 13| 4 S 39
= D N Q
w O 0
L - g Q
=3 x 3 o
o) [ E
~ = o o
= g i,
23S
QA3
838
Q
(<) a N
ol s SNT
~ = % .U N N
S| @ | 3 .. a3
o | o g Q 'g. QN
n| = = 3 S s
o o
o .. N Q E =
Sl 2| 3 S8
S| & N i
= o Q N
5 >3
o X N
o Q Q
Q E- N
~ E'
b




